1 #3
1.1 A4 O3y

process &\ H DD event DEPITEHFIT 5.

1.2 #&EK

process 13 event ZRHITORWIEHDTHEIT 5.
72V TWIE ED S AN S KRG IS 51T £ recursive REFRD D >
72561k EICRS.

1.3 #RAI

Mprocess 23 L Vo) 0 ) Al Z BIEICER T 5 7= DI Z E D T,
ZOMAl TORHR) ZHoTEHELVEW) Z EZRT.

B FRCREBRCTHEOLNZEBZDOTFE. ZORDEEIT T XA =YD

S — THIHICERBL — TLisp & EZ T, L Wil ->Tn 5.

2 SEOE
2.1 Implementation of processes, 7At ADEEK

P.18 @ interact 2> 5.
RAATICHRIRDS R D 72\,

interact(A, P(car(k))), cdr(k)))



interact(A, P, k) = cons(menu(A, P), if car(k) = “END then
;; if the END inputed, terminate an interaction.
NIL
else if P(car(k)) = “BLEEP then
;; if the inputed command is not yet implemented,
;3 just “beep” and do not change.
cons(“BLEEP, interact(A, P, cdr(k)))
else
;; otherwise, accept the inputed command
;; and make the specified transition.
interact(A, P(car(k)), cdr(k)))
Bl2.1. 7075 LDAZ2—2EATANL TV Ew) 7Ry —

o P: ANEZIIMT, ROATIFFL DIRFEIERTE 7w R, &2
AEZAHHEIEL T,

o A:P DAN—EL
e k: Keyboard Input.

(222 581F TLISP OFEERICL>Ta—FOEZHFPHLICK 2
Fta Lw) TEPFEOTHLET)

2.2 Traces, PL—X

EE 2.1. PL—RLZ 70t ADEE L 72508k BEEICIZUI N TEEZ
ns.

1. () 1 trace. (% trace)
2. x Z event €95 EZE, (x) 1T trace.

3. S:<80,81782,...7Sn>,t:<t0,t1,t2,...,tm> % trace kj—%&%,
(80,851,582, -+ Snsto, L1ty oo ty) B trace. T st LFHL.



2.3 Operations on traces, b L—X&EH
2.3.1 Catenation, &S
EFE 2.1 THTERL ~ Dl L.
A 1 (identity element, FfiJn). s™() = () "s =s
A 2 (associative law, FEEH]). s~ (t7u) = (s7t) " u
LA LOBIAN 1 2 2172 THDZE/ A F (monoid) & M-S,
A 3 (left cancellation, Zffi#fY). s t=s"u st =u
A 4 (right cancellation, £ ffif). s"t=uv"t o s=u
MAIS. s t=0)os=)At=(
LRAZIZEFTOD 5 DOBANIAMTH 5.
EE 2.2. trace — trace BDBIEL f 23 strict TH 5 L 1F,

FO) =10
Zli7e s EV) T L.
EE 2.3. trace — trace BOBIE [ B3 distributive TH 5 & 13,
f(s7t) = f(s)" f(2)
Zli7edEWVw) T L.

HIAI 3, 4 205, distributive 7 51X strict TH 5 Z EB3T0 5. BFT
13 distributive % B4%(% (monoid =®) homomorphism (¥EFRIBIELE) &
LN

EE 2.4. BEHEZFRICAT T TIREREZEERT 3.
MAl 6. 1° = ()
AN 7. ¢t =
D S IETUL R YR E 5.
A 8. T =t
AN 9. (st)" = s (17s)" "t



2.3.2 Restriction, & DAH

EE 2.5. 2.1 EFUBATHIAT 3.
MAN1. ) 14=(

() ifxzeAd

A 2. (v) T A= {m I

AN 3. (s7t)TA=(sTA)(tT A
CDERDPS U TDRE 5.

HMAI 5. s 7 {3 =)

Al 6. (s1A)1B=s1(ANB)

2.3.3 Head and tail, BHEE
Y3 Lisp D car & cdr. DTLUR (ry

2.3.4 Star, B?
IEBEBICHITL % asterisk & [A] UK.
EFE 2.6.
Al 1. () € A
AN 2. () e A* = € A
A 3. (s7t) e A" < se€ A*A te A

2.3.5 Ordering, BRI}

EE 2.7. trace [ZWXERF2BANS LS. trace DESE TEFPHEE /4
o CHEREDER %2R,

s<t=dust.s u=t

2.3.6 Length, RS
ZDEAEDER.



